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PART - I (|- 1)
MENTAL ABILITY TEST

s TFIar geroT

Questions : 1 to 90

Direction : (Question Nos. 1 and 2)

In the following number series find the
number which is wrong according to the
series.

1. 7,17, 11, 15, 15, 13, 19, 9, 23
(1) 9
@) 11
(3) 23
4 15

2. 8, 4,86, 15,52
(1) 4
(2) 52
(3) 15
4) 8

Direction : (Question Nos. 3 and 4)

The three different position of a dice are
given below. Select the suitable answer
of the following question.

+ @ X

3. What is the symbol on the opposite
surface of ¥ ?

1) $ @) +
3) @ (4) x
NMMS-2022
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fsr ¢ (991 HEr 1 ug 2)
= & T ' gEer #ogg g9en
ST B S A F ATAR T ¢ |

1. 7,17, 11, 15, 15, 13, 19, 9, 23
(1) 9
@) 11
(3) 23
@ 15

2. 8, 4,6, 15,52
1) 4
(2) 52
(3) 15
(4) 8

s ¢ (I dEr 3w 4)

T UTET i A STAT-3TaT Refa |
S M 2 FeAfRad 9|9l & SugEd
IO BN AT HBX |

+ @ X

e [als) Tz

3. T & fauda gds W 9-a1 ==
g7

1 3
3) @

@) +

(4) x



4. What is the symbol on the opposite
surface of § ?

1) 2
@) x
(3) +
(4) #

Direction : (Question Nos. 5 to 7)

In the following questions there are
statements followed by conclusions.
Choose the conclusion(s) which must
logically follow from the given
statements.

(1) If only conclusion I follows.
(2) If only conclusion II follows.

(3) If neither conclusion I and II follows.
(4) If both conclusion I and II follows.

5. Statements :
All Apples are Mangoes.
Some Mangoes are Guava.
Conclusions :
I Some Guava are Apples.

II Some Guava are Mangoes.

6. Statements :
Some buses are vans.
Some vans are motorcycles.
Conclusions :
I Some vans are buses.

II Some motorcycles are vans.
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4. $ & fa9dg 9ds W HE-91 e
g7

1) 2
@) x
(3 +
(4) #

fdsr @ (U7 dEr 5 | 7)
Fr=fiRad gsAl ®, ®U9 & 9% ey
2| =pY &1 =TI HY S f’u U et
q dliches &9 A HAFAXOT HL |

(1) afE Haa Fr=pd 1 STFAeT HIar 2 |
(2) At daw Fepd 11 STFEOT & B |
@) g 7 ar =y I R F & 11

AT FHIT © |
(4) g® F=pd 1 oiX I S SATEROT
X E |
5. ®HYT :
g4l q9 1 2 |
B/E AW FAEE € |
e -
I %B ovEe a9 B
II B THES TH T |

6. YT :
FHE T4 99 2 |
BB I HICTHEG 2 |
rspe :
I %5 aT a4 21
II %5 AexdEthd oaF 8 |



7. Statements :
Some dogs are cats.
No cats are rats.
Conclusions:
I Some cats are dogs.
IT Some rats are dogs.

Direction : (Question Nos. 8 to 10)
The answers to the following questions
are based on the diagram given below.
Where the circle represents students
studying Mathematics, the triangle
represents students studying Science
and the square represents students
studying Geography.

8. Number of students who study
Mathematics and Science but not
Geography :

1) 7
(2) 5
3) 4
(4) 6

9. Number of students who study
Mathematics,
Geography :
(1) 5
2) 6
) 7
4) 4

Science and
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7. YA :
FB FHul fafeedr 2
wg el Fer 72 B
ey -
I 35 fafEr & 2|
11 E@Eﬂ%ﬂgﬁ%l
fdsr ¢ (I dE 8 | 10)

frfaiRad usHi & IaX A [Ru @
ARG ux ofemiRa ¥, St gu Wi
T At B, HYS faem ged A

P.T.O.



10. Number of students who study
only Mathematics :

1) 3
2) 4
3) 6
4) 7
Direction : (Question Nos. 11 and 12)
In a certain code language
(a) ‘rim tim bo’ means ‘Sun is Hot'.
(b) ‘sim jar tim’ means ‘Moon is Cool’
(c) 9jar bo lim’ means ‘Sun and Moon’.

11. In that language which word is
written for ‘and’ ?

(1) tim
(2) lim
(3) sim
(4) jar

12. In that language which word
written for ‘cool’ ?

(1) im
(2) jar
(3) tim

(4) sim
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10. 39 BET &H &A1, S A ITAoTd
TS B -

(1) 3

2) 4

3) 6

4) 7
e - (999 EEr 11 e 12)
Ueh Mig=d e A o
(a) ‘rim tim bo’ &1 31 ‘Sun is Hot’ &
(b) ‘sim jar tim’ T 3727 ‘Moon is Cool’ &
©) arbolim’ & 37 ‘Sun and Moon’ &

11. 39 9T ¥ ST =% ‘and’ & foIQ
forar T3 B

(1) tim
@) lim
(3) sim
(4) Jjar

12. 39 99T H ST =E ‘cool’ & fo@
forar T3 ®

(1) lim
(2) Jar
(3) tim

(4) sim



13. If the word ‘EIGH’ can be written

as ‘EMOT’, then how can the word
‘AEKL’ be written in that code ?

(1) AELM
(2) AESX
(3) AISX
(4) AIXS
Direction : (Question Nos. 14 and 15)

Which of the four answer figures can be
formed from the pieces (X) given below ?

14. ADA
(><>
(1) 2)
(3) (4)
15. 2N
)
(X)
o0 2 o
o [ @ |®
16. If the word ‘MUMBAI’ can be

written as ‘NWPFFOQO’, then how
can the word ‘DELHTI be written
in that code ?

(1) EFMIL (2) EGOLN
(3) CDKGH  (4) EGOMN
NMMS-2022
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13. T ‘EIGH’ s1=8 &1 ‘EMOT &
Sar 8, o ‘AEKL’ &1 241 i &
g e forar o Tehar B °
(1) AELM
(2) AESX
(3) AISX
(4) AIXS
fasr @ (9 de 14 o 15)
IR IAX q 9 HA-d ST
®l A RU U RSl (X) & g9 S
TehaT & 7
4. |AQ
a /
(X)
(1) 2)
(3) (4)
15. 2N
)
(X)
o =2 o
@ [ @@
16. afe ‘MUMBATI == &I ‘NWPFFO’

forar Sfar 2, a1 ‘DELHT =0 34t
HE H 9 "mr foEar S1odean
e

(1) EFMIL
(3) CDKGH

(2) EGOLN
(4) EGOMN

P.T. O.
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Direction : (Question Nos. 17 to 19)

There are given six logical Diagrams (a,
b, ¢, d, e and f). Select one which best
illustrates the relationship among three
classes in each of the following question.

© ¢
Do © @

17. Husband, Wife, Family :
(1) b @) f
3) a (4) e
18. Authors, Women, Techers :
1) b @) c
3) d 4) e
19. Mothers, Women, Children :
1 f 2) a
3) b 4) c
20. If the word “DOCTOR” can be

written as FRGVRYV, then how can
the word “HEALTH” be written in

that code ?
(1) IFBMUI (2) JHEMWM
(3) IFBNUI (4) JHENWL

21. If the word ‘DOG’ can be written

as 13, then how can the word
‘MAT’ be written in that code ?

1) 17 (2) 34
(3) 24 (4) 26
NMMS-2022

(8)

feer (997 Fe3m 17 9 19)

B: g G == (a, b, ¢, d, e 3T f)
fauw @ B frafeafea & 9 g% g
7 a9 @t & dg 9y g9 g
IS T |

© &7
Do © @

17. 9fd, 9, 9@ :
(1) b ©@) f
3) a (4) e

18. &, Az, f3rems :
(1) b @) ¢
(3) d (4) e

19. #EOE, AN, I3 :
1) f @) a
3) b 4) c

20. I “DOCTOR” 1= & FRGVRV
forgr sar 8, @ “HEALTH” <Rt
=@l @I o fpg e forEr o
bl B 7
(1) IFBMUI  (2) JHEMWM
(3) IFBNUI (4) JHENWL

21. 3fe ‘DOG’ == = 13 forEr Sar

g, @1 ‘MAT = @1 @i # 5
JhX forar <1 Tehar B 7

1) 17 (2) 34
(3) 24 (4) 26
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23.

24.

. Rahul is 15th from the left in a

row of 38 boys. What will be his
position from the right ?

(1) 23rd (2) 22nd
(3) 24th (4) 25th

If the word ‘MOUSE’ can be
written as “ONWRG”, then how
can the word ‘LIGHT’ be written
in that code ?

(1) MGHFU (2) JGEFR

(3) JJEIR (4) NHIGV

How many times does Zero appear
in the numbers from 1 to 1000 ?

(1) 102 (2) 122
(3) 192 4) 112

Direction : (Question Nos. 25 to 29)

Read the following information and
answer the questions given below.

1.

2.
3.
4

P$Q means P is mother of Q.
P@Q means P is father of Q.
P#Q means P is husband of Q.
P&Q means P is daughter of Q.

25. How is A related to C according to

26.

A@B#C ?

(1) Father

(2) Grand Father
(3) Father-in-law

(4) Son-in-law

How is C related to A according to
A$B&C ?

(1) Wife (2) Daughter

(3) Mother (4) Husband

NMMS-2022

(9)

22.

23.

24.

IREEE

B

38 eehi hl digkd H g 9 |
158 TIM 49X | IEH SRl AR
q I AT BT 7

(1) 23at (2) 22dt

(3) 24at (4) 25at

gl ‘MOUSE’ == s “ONWRG”
forar strar 2, o ‘LIGHT =t s4i
Hs H p9 Uk r@ar 1 ghdr
g7

(1) MGHFU  (2) JGEFR

(3) JJEIR (4) NHIGV

1 ¥ 1000 d& = @&l 7 0
fopa=l 9 STar 8 7

(1) 102 (2) 122
(3) 192 4) 112

(U1 EEAm 25 9 29)

frefeRad S99 ek A R
gsHil & IA< & |

1. P$Qahr <7ef 8 P, Q & AT T |

2. P@Q@ AT B P,Q & fuar ¥

3. PHQ@ 1 B P,Q & Ui 2 |

4. P&Q I A B P,Q &I I 2 |

25.

26.

A@B#C & AR A &1 C |
qee g ?
(1) foer
(2) =r=T

(3) |gX
(4) ™=

A$B&C & T7aR C &1 A & 40
T B 7
(1) it 2) I
(3) = (4) dfer
P.T.O.



27. How is A related to C according to
A#B$C ?

(1) Husband
(2) Father
(3) Son

(4) Wife

28. How is C related to A according to

A&B#C ?

(1) Mother
(2) Daughter
(3) Wife

(4) Husband

29. How is A related to C according to

A@B$C ?

(1) Grand Father

(2) Husband

(3) Maternal Grand Father
(4) Father

Direction : (Question Nos. 30 to 34)
Read the following information and
answer the questions given below.

All six members of a family P, Q, R, S, T
and U are traveling together. S 1is
daughter of P. U is brother of Q. Q 1s
daughter of R. But R is not the mother of
Q. P and R are a married couple.

30. Who is U’s mother ?
1) S 2 P
3 R 4) T

NMMS-2022

(10)

27. A#B$C &% 1A A & C q &1
T B 7

(1) 9
(2) faar
(3) et
(4) ol

28. A&B#C & AR C & A | &1

T B 7
(1) =
(2) s
(3) Tl
(4) 9iq

29. A@B$C &% T7ER A &1 C & =1

g B 7
(1) =rar
(2) 9fa
(3) =T
(4) Toar

fdsr : (v deEm 30 | 34)
frfafad STl 9@ 3k A f'ug
MM YAl B IAL & |

UF gaR & 99 8: 9599 P, Q, R, S,
T X U Tk 91 IET T @ 218,
AT BRI U, Q H 9 Bl QR
I B A@ABT R, Q F SR
3T R us faanfed swer 21

30. U & df shig & 7
1) S 2 P
3) R 4 T

-

P
2 Fl
ot P



31. How is T related to S ?
(1) Uncle

(2) Father

(3) Maternal Uncle

(4) Brother

32. How many children does P have ?
11 (2) 2
(3 4 4) 3
33. How many male members are
there in the family ?
11 2) 4
(3 2 4 3
34. How is Srelated to U ?
(1) Sister
(2) Mother

(3) Sister-in-law
(4) Daughter

Directions : (Question Nos. 35 to 38)

In each of the following figures number
are written according to some patterns.
One missing. Find the
missing that replace the

number 1s
number
question mark (?).

12 15 13 18 7 ?
35. Y Y Y
20 26 7

(1) 21
@) 13
3) 9
4) 19

NMMS-2022

(11)

31. T & S & &1 daeg 8 7

(1) =r=

(2) foar

(3) #Hm™HT

(4) W
32. P& fpae =2 © °

1) 1 @) 2

3) 4 4) 3
33. qRaR # frae gBY e € 7

1) 1 @) 4

3) 2 4) 3
34. SH UG T dag 8 7

(1) &=

) =t

(3) «Te

(4) 9
fdsr @ (U9 Ger 35 9 38)
= R udw ety ¥ uw MiEd
HH AR FHE dEn e 2
TH A UH e g9 1 g9 e
S Y St geq RBree (7) & e W
SUYEHT & |

12 15 13 18 7 ?
ST YT

20 26 7

1) 21

@) 13

(3) 9

(4) 19

P.T.O.



0

255

1) 9 @) 2
3) 18 ) 7
g7, 2 37 8§87 5 3 9 4
i
I s I
(1) 464 2) 232
(3) 494 (4) 133
38. 218
277\
216| 27
e
1) 5 @) 14
3) 125 4) 25

Directions : (Question Nos. 39 to 42)

Read the following information and

answer the questions given below.

There are five person in a group A, B, C,
D and E. The group has one doctor, one
teacher and one author. A and D are
unmarried students. E is a man married
to one of the group member. B is brother
of A and is neither doctor nor author. C
is not a doctor.

39. Who is author ?
1) A 2 B
3 C 4) E

NMMS-2022
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0

255

1) 9 2) 2
(3) 18 4) 7
g7, 2 37 8 7 5 3 9 4
* * liﬁ
N I A A
(1) 464 (2) 232
(3) 494 (4) 133
38. 218
X7
216[ 27
P/
1) 5 2) 14
(3) 125 4) 25
fdsr : (U1 Eear 39 § 42)

ffrefafag S99 ik A= fRu
T YAl B IAC 2 |

Uk @ge H 5 A A, B, C, D 3R E
g1 99 d uH S, UH [REE IR
TH d@H 21 A R D Afgaifed s=
€1 E u% 959 B S 99 & d==i o
q up g fqafea 21 B, A &1 9E 2
AR T a B &8 9 & a@h| C
Sl &l B

39. AEH HT B ?
1) A (2) B
3) C (4) E



40.

41.

42.

43.

44.

Who is teacher ?
(1) B
2) C
(3 E
4 D
Who is doctor ?
1 C
(2 B
3 D
4) E

Who is wife of E ?

(1) D

2 C

(3 B

4 A

A clock has 6 : 47, so what does

the time of the clock appear when
you look in the mirror ?

(1) 7:13
(2) 6:13
3) 5:13
(4) 8:13
If the English alphabet is written
in reverse orders, which will be

the 8th letter to the right of the

12th letter from the left ?
1 G 2 T

3 F 4) 1
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40.

41.

42.

43.

44.

faretss B9 B 7
(1) B
2) C
B E
4) D
eFeX BT B 7
1 C
@) B
3 D
4 E

E & 91l 9 & 7
(1) D

@) C

3) B

4) A

UF gSI H 6 Foieh 47
g, ar o § @ W
T T Ui BT g 7
(1) 7:13

(2) 6:13

3) 5:13

(4) 8:13

gfd SiUS &I JOHEET B IAC
e H forer S, O 9 | 129

3T % adl X &daf  ofElY
HIT-91 BRI 7

1) G

e U
eI

@) T
3) F 4) I

P.T.O.



45.

46.

If the seventh day of a month
comes three days before Saturday,
then which day will be the 17th
day of that month ?

(1) Sunday
(2) Saturday
(3) Friday

(4) Wednesday

Various terms of an alphabet
series are given with one term
missing as shown by (?). Choose
the missing terms out of the given
alternatives.

DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
4) SRQ

Direction : (Question Nos. 47 and 48)

Select a proper group of letters from the
given alternative.

47.

48.

_a_b_abaa_bab_abb
(1) abbaa (2) babba
(3) ababb (4) babaa

qrp_q_ppqr_p_rpp
(1) qrqq (2) rapq

(3) prpq (4) rrpq

NMMS-2022
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45. gfc fFE1 ®WE @ gadar '’
JFER § a9 &9 gsd ofEr B,
A I HIE H Gedl &9 HiH-a1
qe B8R ?
(1) IEEamr
(2) +EX
(3) AR
(4) ggaX
46. TOHICT =@ & qe feg
W e B9H 9 tk gz Raa ®
& ueq e (?) | It &
21 Ry U et ¥ 9 R o=
ST HIToTT |
DEF, HIJ, MNO, ?
(1) RST
(2) STU
(3) TUV
(4) SRQ
feer - (999 EEar 47 ud 48)
U U foeheal § § 978 T UH TRl
e g fSa R = b i w6
ST 9 |
47. _a_b_abaa_bab_abb
(1) abbaa (2) babba
(3) ababb (4) babaa

48.

qrp_q_ppqr_p_rpp
(1) qrqq (2) rapq

(3) prpq (4) rrpq



49. What is the angle between the two
hands at 7 : 30 in the Clock ?

(1) 45°
(3) 15°

(2) 60°
(4) 30°

50. A man walked 40 meters towards
North, took a left turn and walked
20 meters. He again took a left
How

far and in which direction is he

turn and walked 40 meters.

from the starting point ?
(1) 20 meters East

(2) 20 meters South

(3) 20 meters West

(4) 100 meters South

Direction : (Question Nos. 51 to 54)

In each of the following questions the
first have
relationship. Choose one word out of the
given four alternatives, which will
replace the question mark (?), having
same relationship with the third, the

pairs are given as following.

two words a common

51. Reading : Knowledge : : Work : ?
(1) Engagement
(2) Employment

(3) Experience

(4) Experiment
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B

49, 931 ¥ 7 I99HY 30 fEe 9T =i
Al & g e @It @ o
R 7

(1) 45°
(3) 15°

(2) 60°
(4) 30°

50. U% AfK IdX &= & AR 40
dex d% =, 98 a1 ST AR
20 HieX =« g8 YA 9d gl
T 40 HeX I@r| URfEE ==
g e fraeil g R fRe Ram #

SR ?

(1) 20 HexX g4
(2) 20 HIeX FeToT
(3) 20 HiexX 4f=gH
(4) 100 HieX aferoT

feer = (999 EEar 51 § 54)
=lefaa g@e 999 # Ued a =
WWWW@@-W@W
2| fRu T ar faeedi § ¥ ue qE
e A S g o () S|
gy 37 9l & AR JaY =E 9 g8
U 9T 2| Siie 29 UK f’u ¥

51. 9&AT : 59 @ @ HH @ 7
(1) =T
(2) TSI
(3) STgsa
(4) 93T

P.T.O.



52.

53.

54.

55.

Paw : Cat : : Hoof : ?
(1) Lion

(2) Elephant

(3) Lamb

(4) Horse

White : Peace : : Red : ?
(1) Rose

(2) Hatred

(3) Violence

(4) Cleanliness

South : North-West : : East : ?
(1) South-East

(2) South-West

(3) North

(4) West

Wednesday being Republic day
was holiday. The tenth day of the
month  being  Basant
Panchami was holiday. What day
was on 10th ?

(1) Wednesday
(2) Tuesday

next

(3) Friday
(4) Thursday
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52.

53.

54.

55.

USTr @ fareal o
(1) ST
(2) e
(3) 9
(4) =T
ae
(1) T
(2) gom
(3) Ear

(4) TE=dr

e ¢ -

aferor : IA-uftem ;o gd : 7
(1) aferor-ge

(2) sferor-uis=H

(3) I

(4) qig=rq

gk B Mo fRgw # ged
A1 ord "HEM 109 R =&d
gEEl @ gedl 10 arE @t
H=-d f&st ar ?

(1) gaarT
(2) HITEX
(3) ThAX
(4) T&AX



Direction : (Question Nos. 56 to 59)

In each of the following questions, 3
question figures are given as A,B,C and
four answer figures are given as 1,2,3
and 4. Select the figure from the answer
figures that will continue the series

given in the question figure.
56. Question Figures

T

A B c D

[m] [m]
. 0

Answer Figures

(1) 2)

3) (4)

!

ol
e

57. Question Figures
A

oX |a

O ?

A B C D

Answer Figures

® KX @ LX8
®) 2 @ KXo
[m] A
NMMS-2022
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fcer ¢ (I | 56 9§ 59)
Fefeaa g% 991 H 3 UsH
agfEl AB,C & &9 H 8lX IR 3%
el 1,2,3 X 4 & w9 H & T
21 IAT SApREl H H IH AR @
T BT ST U SATRfAT H & T
SJEAT ol SR TE |

56. U STRiET

lA\_/’

[m]
0

puik

~
—
~
G Z[
~
DN
~
D
ID I

® "1 @

57. 9T STIET

(1) @) v

3) Ay (4) O
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58. Question Figures 58. U SApfAt
A4 1T A AT 2
A B C D A B c D

Answer Figures I STt

(1)

@ | A
® | g~
(4) g

59. Question Figures 59. U STt

@)

3)

(4)

|| 4] | Bel o<

G600 8880
Answer Figures I SRt
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Direction : (Question Nos. 60 and 61)

In the following questions, choose a
figure amongst the four alternatives
which when placed in question mark (?)
space of figure (X) would complete the
pattern.

60.
(X)
(1) @
HEN
3) @ 5
61.
?
(X)
(1) ( N ©@
3) @)

Direction : (Question Nos. 62 and 63)

In the following questions, from amongst
the figures marked 1, 2, 3 and 4 choose
the figure which satisfies the same
condition of placement of the dot(s) as in
figure (X).
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fesr : (9s deEEm 60 we 61)
FrfaRad gl 5 I Ol § 9 uh
Sl A, 8 5 Al (X) & 97
e (7)) & WE 9 @ S ar Yed
g0 Bl ST |

60.
)
1) 2)
HEAN
(3) @ S
61.
?
(X)
o ¢y ©
(3) 4
fesr : (Us deEm 62 ud 63)

FrfaRaa get #, swepfeEt 1, 2, 3 3%
49 § g8 A g+, S &g e @
SHl Refq 1 dgse wxar & oo 6
i X)HF B



62. @

63.

(X)

(1) @ () @

3) m (4)

(X)

M K " @ (J/>
6\ @ :2&

/

AW

3)

Direction : (Question Nos. 64 and 65)

Select the mirror image of the given

number/figure (X).

64.

24169
(X)
(1) 96142
2 Shroe
3 earpS
(4 K hS

NMMS-2022

(20)

63.

e -

M K e (J/>

@ NN @

@)

(4)

é\

AW

N

/

(M9 |1 64 TF 65)

& T " /Spa (X) H 99T B

T |

64.

24169
(X)
1 96142
2 Shroe
@3 €aorhs
(4 3€IMS



65.

(1) @)

(3) (4)

Direction : (Question Nos. 66 and 67)

Study the following number sequence
and answer the questions given below.

63745921873569437142769317

66. How many prime number are in
the sequence which are
immediately preceded by an even
number but immediately followed
by an odd number ?

1) 5 (2) 13
3) 4 4) 7

67. How many ‘3 number are in the
sequence which are immediately
preceded by an even number but

immediately followed by an odd
number ?

1) 4
2 2
3) 3
@ 1
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65.

e

(X)

(1) 2)

(3) (4)

(J97 d&A1 66 TF 67)

Frefaiad S T STEhH &l STIT i
AR = Ru o gt & I T

63745921873569437142769317

66.

67.

R MU orfhd H fhcHl 19y
e B dfeT RO 9 H Uk
s = B 7

(1) 5 (2) 13
(3) 4 4) 7
R @ AgHd d e ‘37 8,
59 S Ueq Uk @H dEAr ©

dfeh A de H Uh fqud g
g7

1) 4
@) 2
3 3
@ 1



Direction : (Question Nos. 68 and 69)
The given figure (x) is followed by four
figures 1, 2, 3, and 4 such that (x) is
embedded in one of them. Trace out the
correct alternatives.

68. N

(X)

(1) (2)

3) (4)

69.

(1)

2)

3)

(4)

by | <1 (0

NMMS-2022

fesr : (Js deEEm 68 wd 69)
g T = (x) =) e 1, 2, 3,
4 ¥

q R # M &1 Sugs faehed
P gBAT HX |

68. : ,
(X)

(1) 2)

3) (4)

69.

(1)

@)

3)

by ) <1 (0

(4)




70.

71.

72.

73.

Kailash walks 3 kms to east and
turns south and walks 4 kms.
Again turn west and walks 6 kms.
How far he from the starting
point ?

(1) 5kms
(2) 6 kms
(3) 3 kms

(4) 7 kms

Select the related number from
the given relation :

583:295::486:7
(1) 291 (2) 378
(3) 487 (4) 581

Find the odd word from the given
alternatives :

(1) RTUX
(3) GEDA

(2) WUTQ
(4) ECBY

If A means +, B means x, C means

+and D means — , then the value
of 9A2B6D4C2is:

(1) 16 2) 19
3) 27 (4) 30
74. If4x3=14,5x4=18,6x5=22,
then find the value of 7x 6 :
(1) 20 (2) 26
3) 30 (4) 42
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70.

71.

72.

73.

74.

B

e 3 TR gd HI AR T @
A SR &l IR gsar & 3R 4
Rl FIetar €1 g uiRed # AR
JeHy 6 fHil F@ar g g8
AR fog & feaeit gx 8 7

(1) 5 fRHr
(2) 6 fRHT
(3) 3 fRHm

(4) 7 fH
U U Hey 9 Haiog d@@m &0
T P

583:295::486:7?

(1) 291 (2) 378

(3) 487 (4) 581

fTu U fgkeai § @ fAuH =
A HifoTT -
(1) RTUX
(3) GEDA

(2) WUTQ
(4) ECBY

gfe A &1 37 +, B 1 31 x, C
T + X D & 7 — AFT S,

AI9A2B6D4C 2 &l AN s

1) 16
(3) 27

(2) 19

(4) 30

it 4x3=14,5x4=18,6x5=22
B, A 7x6 H AF ST HioT -
(1) 20 (2) 26

(3) 30 (4) 42

P.T.O.



B
Direction : (Question Nos. 75 to 77)

How many triangles are in the given
figure ?

75.

1) 10
(3) 9

1) 10
@) 8

(3) 6
4) 5

2) 12
4) 5

76.

71.

1) 7
(3) 11

(2) 10
4) 9

Direction : (Question Nos. 78 and 79)

How many squares are in the given

figure ?

78.
(1) 18 (2) 15
3) 25 (4) 16

NMMS-2022

(24)

feer (987 Femm 75 ] 77)

& 2 el A FBrygsit @ deEn Rl
T 7
(1) 10 (2) 12
(3) 9 4) 5
76. /\
(1) 10
2 8
(3) 6
4) 5
1) 7 2) 10
3) 11 4) 9
feer : (9897 Ee 78 wd 79)
O oomgfa # oot @ g feae
T
78.

(1) 18
(3) 25

@) 15
4) 16



79.

(1) 12 @) 15
(3) 20 4) 25

80. If x means —, + means X, + means
+ and — means +, then find the
value of 175 -25+5+2x3+10:

1) -13
(2) 160
(3) 240
(4) 2370

Direction : (Question Nos. 81 to 83)

In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones
that will complete the series.
81. 4,13, 28,49, 76, ?

(1) 99

) 111

(3) 109

(4) 122

82. 117,96, 77, 60, ? , 32
(1) 40
(2) 49
(3) 50
(4) 45
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79.

80.

IGEEIR

1) 12 @) 15
(3) 20 4) 25

g x a1 37 —, + T T X, + H
3tf + X — oSl + HEET
S, ar 175 -25 5+ 2x 3+ 10
FT HE A HioQ -

(1) 13

(2) 160

(3) 240

(4) 2370

(w97 demr 81 | 83)

2 gsAl H U ge gEdr & R
eH w98 g« 2| Ru g faeeedl #
9 ge fgehed gHu ST e w9l

81.

82.

=l

4,13, 28, 49, 76, ?
(1) 99
@) 111
(3) 109
(4) 122

117, 96, 77, 60, 2, 32
(1) 40
2) 49
(3) 50
4) 45

P.T.O.
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83. 17,20, 58, 171, ? 83. 17,20, 58, 171, ?
(1) 216 (1) 216
(2) 284 (2) 284
(3) 509 (3) 509
(4) 441 (4) 441
84. If4x2=3and 8x4=3, then find 84. X 4x2=3 X 8x4=3 &, ar
the value of 21 x 7 : 21x7 o HME TG HiOQ -
(1) 4 2) 3 (1) 4 2) 3
(3) 8 (4) 16 (3) 8 (4) 16
Direction : (Question Nos. 85 and 86) fesr : (9sT deam 85 ud 86)
The figure (X) is folded to form a box. e (X) fesam a9 & fo@ Aer ™ B
Choose the box from given alternatives U U Oehedi § | UEr Aeeq (%S_SIT)
that is similar to the box formed. E\Jﬁ ST S99 U e &% 9H%Y 8l |
vy vy
85. 0|+ 85. 0|+
s |A X o |AIX
X) X)
F F
O [x]” @2 o (x| @ [al]A
pad . pS .
@ Y @ x[Z ® v @ x 8
86. =t g6. =t
S @ #|V S @ir|V
= =
X) X)
@ # @ #
(1) + ¥ (2) = (1) + 2) =
@ &Y @ 4,
® (v|¥ @ € @) v (4) e




Direction : (Question Nos. 87 to 90)

Each side of solid cube is 15 cm. The
opposite faces of this cube are painted
Red, Green and Yellow. After this the
cube is cut into small cubes whose each
side 1s 3 cm. Answer the following
questions on this basis.

87. How many such small cubes will
be obtained which have red and
green colour on only two faces ?

(1) 12 (2) 8
(3) 36 (4) 24

88. How many such small cubes will
be obtained which have yellow

colour on only one face ?
(1) 8 (2) 12

(3) 18 (4) 54
89. How many such small cubes will
be obtained which will not have
red, green and yellow colour on
any of the faces ?

(1) 125
2) 25
(3) 8

4) 27

90. How many such small cubes will
be obtained which will have red,
green and yellow colour on only

three faces ?

1) 12 (2) 8
(3) 25 (4) 54
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fdder ¢ (w7 dEm 87 | 90)

H g&H g 15 2
% [OI9d el FEHEI I A,

ki

2

87. UH fRa< BIC ¥4 urq &8Fl s
Had &l Bk U¥ AT AR B

T[T e
(1) 12 2) 8
(3) 36 (4) 24

88. UY [haw BIC 9 U &M [ieeh
Had THh Haleh I¢ UiAT 37 &1 7
(1) 8 (2) 12
(3) 18 (4) 54

89. UY fhaw BIC 9 U M [ieeh
a1 off wasp 9T o, B8O S
dieT 1 7&T 8rFm ?
(1) 125
(2) 25
(3) 8
(4) 27

90. UY fhaq B g9 uTd &8 e

Had diFd %ol 9 A, 84 3T
qrT 37 B 7

1) 12
3) 25

2 8
(4) 54

P.T.O.
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer erar gderor

Questions : 91 to 180

91.

92.

93.

94.

Which

important

of the following is an
component of soil
formation ?

(1) Parent Shell

(2) Flora

(3) Climate

(4) All of the above

Which of

method 1s used for purifying of

following chemical

water ?

(1) Fluorination

(2) Chlorination

(3) Bromination

(4) Filtration

Two plane mirrors are kept at the
following angles one by one. In

which case 1s the no. of images

formed maximum ?
(1) 60° (2) 30°
(3) 45° (4) 90°

Lahore Gate Improvement Scheme

was launched in :
(1) 1888 (2) 1886

(3) 1911 (4) 1936

NMMS-2022

91.

92.

93.

94.

Time : 12 Hours

=1 & & ®9-a1 gar HEer @
qEqCl gTh o 7

(1) S9% A

(2) TSI

(3) Stqarg

(4) SUFT G

= § 9 fea aEtes @t @
SYINT gl &l & B & [T
fopar STar 8 °

(1) RIS

(2) FAAL

(3) SHMIT

(4) BT

3 gHAA &4V HI UH-UH Heh
fFr=fafaa el 9X w@r S 2

fra Rafg & g9 a ufafear
F G STfeeRan Bt 8 7

(1) 60° (2) 30°
(3) 45° (4) 90°

AER T gEAR AT JE H T
oy :

(1) 1888 #
(3) 1911 #

(2) 1886 H
(4) 1936 ¥



95.

96.

97.

98.

99.

5 26
If 2y+=—="——y,theny=:
Yy 3 3 Yy Y

M1 2)

(4)

W1 w|N

6
3) 5

What steel was Tipu Sultan sword
made of ?

(1) Stainless Steel (2) Wootz
(3) Silver (4) Gold

The policy of merger was given by
which English man ?

(1) Warren Hastings

(2) Lord Dalhousie

(3) William Bentinck

(4) Lord Wellesley

It 1is difficult to walk on ice
because :

(1) pressure is high

(2) pressure is low

(3) friction is high

(4) friction is low

Here are the names of resources
and their types. Look at the
options and state which option is
not correct ?

(1) Coal — Non-renewable
resource

(2) Petroleum  — Non-renewable
resource

(3) Water — Non-renewable
resource

(4) Solar Energy — Renewable
resource
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95.

96.

97.

98.

99.

B

Ry 2y+g=%—y, ar y =AM
R ¢

M1 @)

(4)

w1 w|r

6
3) =

Ay g #l dear e i
q T oy 7

(1) SFIRIE €I (2) gt

(3) =<t (4) 9=

foea & g Fa ofasT &1 39
g7

(1) ar= 2hEg

(2) @S ST

(3) faferaw €ifden

(4) @ JAT

% U TAAT Hied & Fifh ¢

(1) =19 offers 8
(2) T FT B
(3) TYur aIferek B
(4) g99T % B

TET GOl B AW J I9h TR
fRu 7w B\ fyeedl &1 2Rgu X
garsu o H-ar faeeg el 7&f
g7

(1) BT - STHARLCNT dares

(2) UEIeTEH - SR daree
(8) oI ~ STFAIHONT dared

(4) A o0l - TAdpong Gares

P.T.O.



100.

101.

102.

103.

104.

The place where an Earthquake
originates is :

(1) Centre

(2) Epicenter

(3) Focus

(4) Apex

Why did Mahatma Gandhi visit
Champaran ?

(1) To see the plights of Indigo
planters in Champaran

(2) To see the progress of Indigo
plantation

(3) To see the managing system of
company

(4) To collect the revenue

Who among the following was
associated with the

Republican Association ?
(1) Subhash Chandra Bose
(2) Mahatma Gandhi

(3) Bhagat Singh

(4) Laxmi Sehgal

Hindustan

How many features are required
to construct a quadrilateral ?

(1) 4
2) 5
(3) 6
4) 3
A square carrom board has a
perimeter of 320 cm. How much is
its side in cm ?
(1) 100

(3) 60

(2) 80
4) 90

NMMS-2022

(30)

100.

101.

102.

103.

104.

a8 T STEl Y UaT B §

(1) &=

(2) AfTh=
(3) ®IHH
(4) TRy

TeTeHT el TUR= I=T R T 7

(1) 99T § i 9GRS |tk
HI oS 3@ & g

(2) Al SRS ARl &1 99T
3@ & fou

(3) HIAT H UFEH UMl @A
% fog

(4) ST THA HA b [AQ

fFeffad 3 & i EgEe
Rufscter Talfues & Sfer ar ?

(1) ga™ =g |
(2) HeTeAT Tre
(3) wd T&e

(4) SeHl eI

el =IgYST &l AT & [T el
e (S &) Stasas € 7
(1) 4

2 5

3) 6

4) 3

Th IR HeH A HI GRA™
320 THI B IEH G H HMY

9t | 1 8?7
(1) 100 (2) 80
(3) 60 (4) 90



105.

106.

107.

108.

109.

How many sepoys were dismissed
from service and sentenced to ten
years in jail on 9 May, 1857 ?

(1) 80 (2) 85
3) 90 4) 95

The fight for Purna Swaraj was
fought under the presidentship of :

(1) Mahatma Gandhi

(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel
(4) Jawaharlal Nehru

Which of the following resource
has commercial value ?
(1) Clean environment

(2) Panoramic view
(3) Cotton clothes
(4) Pleasant weather

In a pie chart data is converted
into :

(1) Line

(2) Angle

(3) Circle

(4) Percentage

The animals that produce new
young ones are called :

(1) Viviparous

(2) Oviparous

(3) Both (1) & (2)

(4) None of these

NMMS-2022

(31)

105.

106.

107.

108.

109.

B

9 U2, 1857 &I Thaw foureal =
Tar 9 F@ieg AT T X &9
e & g &1 T 7

(1) 80 (2) 85
3) 90 4) 95

fepehl SAeeran H Yol @RS 6
SEIEASEII o

(1) HETHT Tre

(2) 9I. TeFIEET

(3) OEX acHHATS ded

(4) STABIAT He@

(ke B> B = R =22 M < £ 1 £ I |
o g7 © °

(1) =3 graEeT

(2) HEIRH 3™

(3) gl ae

(4) e Jread

qE TG H 8 AThsl @ fhad
e 39 & °?

CYRSIES]

(2) =HIoT

3) g

(4) gfasa

J JAMaX S g=d Ue] Hd 8,
Fedrd & -

(1) g=a1 S99 91

(2) 3f=T 39 a

(3) &I (1) X (2)

(4) 37H 9 FHg Sl

P.T.O.



110.

111.

112.

113.

114.

What is the additive identity of
rational number ?

(1) 0
@ 1
3 -1
(4) 2

The area of a rectangular field
whose length is twice its breath is
2450 m2. What will be its length in
meter ?

(1) 35
2) 70
(3) 45
(4) 90

Find the cube of (2 -0.3) :
(1) 7.73

(2) 4.913

(3) 4.713

(4) 7.713

40% of 50 students of a class are
good at Science.
students are not good at Science ?

(1) 20
2) 30
(3) 25
(4) 35

How many

The example of cylindrical shape
1s :

(1) Pipes

(2) Gas Cylinder
(3) Cold Drink Can
(4) All of the above
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110.

111.

112.

113.

114.

QAT @ &A1 & ARG gedH
FTE?
(1) 0
@2 1
3 -1
4) 2

Th TgYSRR T fSTEe g
e A g, w aEwd
2450 T W B | SHH TR HIEX
H T Brlr 7

1) 35

) 70

(3) 45

(4) 90

(2-0.3) T 99 FT XM ?
(1) 7.73
(2) 4.913
(3) 4.713
(4) 7.713

50 BT %l TP F&T § 40 s
B faeme & =8 B fhaw s
fosme 7 o= &7 2 ?

(1) 20

2) 30

(3) 25

(4) 35

ATTTRIT STIT T ISEOT B -

(1) 9rzq

2) T faqusx
(3) wice EFH A
(4) ITUEFd Tl



115.

116.

117.

118.

119.

The height of a cylinder whose
radius 1s 7 cm and total surface
area is 968 cm? is :

(1) 15cm
(2) 17 cm
3) 19cm
(4) 21 cm

Area of a square plot is 2401 m?.
Find the side of square plot :

(1) 49 m
(2) 48 m
(3) 59 m
(4) 39 m

If (—3)™! x (-3)° = (-3)", then the
value of m is :
(1) 5
3 1

2 7
4) 3

If x and y are directly
proportional, then which of the
following is correct ?

(1) x+y =constant

(2) x—y =constant

(3) xy = constant

(4) x/y = constant

The scale of map is given as
1 : 300. Two cities are 4 km apart
on the map. The actual distance
between them 1is :

(1) 1000 km
(2) 1100 km
(3) 1200 km
(4) 1300 km
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115.

116.

117.

118.

119.

B

T JoApR e &1 A g
AI%A 968 THIZ B AT IAH!
Broem 7 QW B, O SEE SEE
fepa=r BFTr 7

(1) 159

2 179

(3) 19 &=

(4) 213

BT e B aABA 2401 HY?
g | |Ie H S T SR 7

(1) 49 =i

(2) 48 =i

(3) 59 =i

(4) 39 =i

g (3™ x (=3)° =
T HIE BT ¢
1 5
3 1

-3)7, a m

2 7
4) 3

e x R y FAETGURT €, O 395
q HiA-A1 FEl & 7

(1) x+y= Rk
Q) x—-y= s
(3) xy = R
4) x/y = R¥els

Ueh HMEEE & 99T 1 300 f&=r
T BT EY HERE W 4
e w I S 9=
greiaes g fea=r et ?

(1) 1000 fHHT

(2) 1100 fHT

(3) 1200 fHT

(4) 1300 fHT

P.T.O.



120.

121.

122.

123.

124.

Which of the following is the
common factor of :

5xy, 3pqr and 40xyz
(1) 5 2) 0
(3) xy 4 1

865000 is equal to :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65x 10°
(4) 8.65x 10*

By joining (-1, —1), (0, 0) and (3, 3)

represent :

(1) atrangle

(2) a curved line

(3) a straight line passing through
origin

(4) a straight line not passing
through origin

Where did the word Calico come
from ?

(1) Calicut
(2) Kolkata
(3) Karnataka
(4) Kandla

If (504 + P) is a perfect cube
number, whose cube root is P, then
value of P will be :

1) 6
@) 4
(3) 2
(4) 8
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120.

121.

122.

123.

124.

ffu @ uei § A UEETS F=4
N 7

5xy, 3pqr 3T 40xyz

1) 5 @) 0

(3) xy (4 1

865000 SIEI B :
(1) 8.65x 10°
(2) 8.65x 10°
(3) 8.65 x 10°
(4) 8.65x 10*

(-1, -1), (0, 0) X (3, 3) &I o=

q¥ UT< B8R -

(1) T FBrygst

(2) Wh ash @

(3) Th T @ S HA &g |
oIl B

(4) Uh X Y@ Sioge fdg |9
qEl Yol &

Hicrepl 9= fpad Fepar 8 7

(1) FIAbe q
(2) HIAHAT A
(3) HAEH
(4) HisAT |

af (504 + P) Uk o9 HEAT B
e g7 qa P g, a1 P &1 A9
BIECTEE

(1) 6

(2) 4

(3) 2

(4) 8



125.

126.

127.

128.

129.

Women and Men who carried
basket loads of iron—ore on their
heads were called :

(1) Wootz (2) Agaria
(3) Bandana (4) Cossaes

The British thought surveys were
important for :

(1) Writing History

(2) Effective Judgement

(3) Effective Administration
(4) All of the above

If 3x74 is a number divisible by 9,
then the least value of x 1s :

11 2) 2
3 3 4) 4
Who said these "Education means
all round drawing out of the best

in child and man body, mind and
spirit" ?

(1) Swami Vivekanand

(2) Rabindranath Tagore

(3) Mahatma Gandhi

(4) Plato

Who allowed the British to trade
in a limited area in Bengal ?

(1) Jahangir

(2) Aurangzeb

(3) Bahadurshah Zafar

(4) Shahjahan

NMMS-2022

(35)

125

126.

127.

128.

129.

B

g HAfeemd iR gHY S
AB-37T%h H YR X 9w @
FT BT o, FedAd F -

(1) gt (2) ST
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(1) sfe™ few & g

(2) 3= d¥E BEd a4 & g
(3) °T=H dE ¥ MEA FH & g
(4) IUUFRT Tl

Ife 9&=ar 8x74, 99 9T g, dl X

B FATH HH BN ¢
M1 2) 2
3 3 4) 4

g e el fereTr &1 37T 91w
SR HgA & R, A SR SATAT
T gaa T ainoT O &
g7 7

ORSICIRCEEIRES

(2) =TT R

(3) wEIeHT e

(4) <rer

UST &l SN H AT & H
AR Bl FASTT fha &1 7

(1) STl

(2) S

(3) SETGRAE STHT

(4) smESTEl
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130.

131.

132.

133.

134.

The factor of 49P? — 36 are :
(1) (7P + 6)*

2) (TP -6)°

(3) (7P —6) (7P + 6)

(4) (6-TP) (7P + 6)

Which is the highest law-making
body in our country ?

(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch

Which is an organization that
arranges toilet facility in the cities
and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad
(3) Muhalla Sudhar Samiti
(4) Private Company

Which of the following right aims
at making India a Secular State ?

(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

Which of the following industries
are owned and operated by
producers or suppliers of raw
materials ?

(1) Private Sector Industry
(2) Public Sector Industry
(3) Cooperative Industry
(4) Joint Sector Industry
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49P% — 36 =T UEUS B :
(1) (7P + 6)?

2) (TP -6y’

(3) (7P —6) (7P + 6)

(4) (6-"TP) (7P + 6)

AR o9 H A" HMA a9
Al HeR -4 B 7

(1) S== FIEd

(2) Far=" A

(3) da=

(4) aXd=

HE-Al dEr el AR sl "
Q=T giaar Iueie Fl & 7

(1) g4

(2) 9T fIeprd aRug
(3) Hiewl ga A
(4) ST pU=T

Fr=ffad o & H-a1 AR
T I gHUET I9aT 8 °

(1) «nfHes wEa=dar &1 AR
(2) FHEAT BT ATHRT

(3) Tretm o1 ATHRIY

(4) TWEA=AT B IATYHR

M= ° 9 6 IR A1 @i
g G Hed "I o 3k AT
EREISURCCIRER IS S -

(1) Fo &= B I

(2) AESTE &= & IIART
(3) TEH I
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135.

136.

137.

138.

139.

Which
number
Sabha ?
(1) Haryana
(3) Punjab

maximum
in Lok

state  has
of members

(2) Uttar Pradesh
(4) Bihar

Which of these countries is the
leading producer of coffee ?

(1) Brazil (2) Indonesia

(3) China (4) India

Which of the following is not a

suitable method of land

conservation ?

(1) Checks on overgrazing

(2) Deforestation

(3) Regulated use
pesticides

(4) Land reclamation

of

chemical

Who does file the FIR ?

(1) Police men

(2) Lawyer

(3) Judge

(4) Public Prosecutor

Which statement is true regarding

sparsely populated areas ?

(1) The regions where there 1is

cold, sparse

population is found.

Hilly areas

inhabited.

Equatorial regions receive

heavy rainfall, so there is less

population.

(4) All the above statements are
true.

extreme

(2) are sparsely

3)
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(4) 9 IR
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FXAT 8 7

(1) gicrd

(2) FHIA

(8) —ITTEST

(4) TR FHIA

ffReT <9 gU &= % Hdg |

HI-ET FAA FGF & °

(1) ™9 =L § T o 8kl
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(2) JaHT & foRe 979 3¢ 2 |
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140.

141.

142.

143.

Who presides over the Lok Sabha ?
(1) Prime Minister

(2) Speaker

(3) President

(4) Vice President

Match List—1 with List-2 :

List-1 List-2
State Location of
Atomic Power
Station
(a) Maharashtra |(I) Kalpakkam
(b) Uttar Pradesh |(II) Kaiga
(¢) Karnataka (ITT) Narora
(d) Tamil Nadu (IV) Tarapur

(1) a-1v, b-I1I, c-1I, d-I
(2) a-I, b-I11, c-II, d-IV
(3) a-I, b-11, c-I11, d-IV
(4) a-Iv, b-I1I, c-1, d-II

Which of the following factors
affect the location of industries ?
(1) Availability of raw material

(2) Proximity to market

(3) Availability of water

(4) All of the above

Where did the biggest gas tragedy
in the world ?

(1) Chennai

(2) Jaipur

(3) Bhopal

(4) Gujarat

NMMS-2022

(38)

140.

141.

142.

143.

AHTAT BT STERIAT HIT Hidl & ¢

(1) ge=HEAT
(2) €iRT
(3) rsgafy
(4) SURTSZART
-1 H -2 9 gAled
BT
geil-1 TeI-2
T QRHATI] FHsil
PE BT IH
(a) TERTSE () HAIRRH
(b) IAT UL |1 B
(¢ HACH (I1D) ST
(d) dHEArg | AV) agY

(1) a-1v, b-I11, c-11, d-I
(2) a-I, b-I11, ¢-1I, d-IV
(3) a-I, b-11, c-111, d-IV
(4) a-1v, b-I11, c-1, d-II

= d " SF-9r BRe IEAR
1 sTafRefa @ guifad Har g °?
(1) F=a AT Pl ITTEIAT

(2) IS &I Mehear

(8) I HI IUT=EIAT

(4) IURT THI

fasg & 999 <1 A9 TEE BBI
g 7

(1) =12

(2) STEAYR
(3) 9T

(4) TeTaq




144.

145.

146.

147.

Article 21 of the Indian

Constitution guarantees :
(1) Right to Speech

(2) Right to Life

(3) Right to Freedom

(4) Right to Information

Which of these minerals is a non-
ferrous metallic mineral ?

(1) Iron Ore

(2) Manganese

(3) Chromite

(4) Copper

Which of the following is called
golden fiber ?

(1) Jute

(2) Cotton

(3) Silk

(4) Wheat

Which one of the following
statements is not correct regarding
the population pyramid ?

(1) Population pyramid is also

called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.

In countries with low birth
rates, the base of the
population pyramid is narrow.

The wide base of the
population pyramid indicates
high birth-rate.

3)

(4)
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AR gfga %1 Ag=ss 21
TS AT B

(1) HTYOT &1 AR

(2) ST =hT SATRR

(3) EIA=ICAT T IR

(4) GIAT Bl AfE®I

ST IS B0 & B | M C [ SR [ 1 =4
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(1) =le 3T9%h

(2) HIIST

(3) sHrHIEE

(4) o=

= § @ %9 gaeu W we
Srar & ?
(1) gea-d
(2) U™
(3) 9™
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SHEE UHs & 99y §
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2
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148.

149.

150.

151.

152.

Where the
constitution mentioned ?

(1) The Preamble

(2) Fundamental Rights
(3) Directive Principle
(4) Fundamental Duties

are aims of the

the

Violence Act passed in India ?

In which year Domestic

(1) 2004
(2) 2005
(3) 2006
(4) 2007

Where 1is the
located in India ?

(1) Chandigarh
(2) Kolkata

(3) Mumbai
(4) Delhi

supreme court

The chemical substance rich in
nutrients are called :

(1) Fertilizer
(2) Weedicide
(3) Pesticides
(4) Herbicides

The most Reactive metal is :
(1) Copper

(2) Silver

(3) Calcium

(4) Sodium
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dfaa & IR B GeiE HaEl
fpar T 8 °?

(1) g&qmE=T §

(2) Aifere AfEpt |

(3) Hifa-frdse fasial
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(1) 2004
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154.

155.

156.

157.

Acid Rain mainly constitutes :

(1) Sodium Chloride

(2) Sulphur dioxide and Nitrogen
dioxide

(3) Hydrochloric Acid

(4) Carbon Tetrachloride

The soil formed by decayed organic
matter is called :

(1) Pesticide
(2) Fertilizer
(3) Humus
(4) Biocide

Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) H2 (Hydrogen)

(3) CO2 (Carbon Dioxide)
(4) F2 (Fluorine)

When a sperm having X-
chromosome fuses with the ovum,
the child born will be :

(1) Male
(2) Female
(3) Male as well as female twin

(4) It depends on the chance of
fusion

Which of the following is a natural
fiber ?

(1) Wool
(3) PVC

(2) Nylon
(4) Polythene
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Iron is galvanized by coating it
with :

(1) Chromium
(2) Sodium

(3) Magnesium
(4) Zinc

The clearing of forests is referred
to as:

(1) Reforestation
(2) Desertification
(3) Deforestation
(4) Sanitation

Burning coal in a closed room will
produce :

(1) NO2 (Nitrogen Dioxide)
(2) CO2 (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) Oz (Oxygen)

Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere
(4) None of these

Which
AIDS ?

(1) A protozoa
(2) A bacteria
(3) A virus

(4) An algae

microorganism  causes
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(1) =pIfFEH
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(1) TRt
(2) HEEIAHIOT
(3) =l &I Fer2
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164.
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166.

167.

Refrigerating gases which harms
ozone layer :

(1) MFC
(2) CFC
(3) LPG
(4) DFC

The process of removing salt from
sea water 1s called :

(1) Calcination
(2) Desalination
(3) Evaporation

(4) Condensation

Chromosomes are found in :
(1) Nucleus

(2) Nucleolus

(3) Nucleoplast

(4) Vacuole

In humans, the development of
fertilized egg takes place in the :

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

The of Heat Energy
produced on complete combustion
of 1 kg of a fuel 1s called :

(1) Calorific Value
(2) Significant Value
(3) Latent Heat

(4) Internal Energy

amount
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169.

170.

171.

172.

The microorganism which contains
chlorophyll are :

(1) Virus

(2) Fungus

(3) Algae

(4) All of the above

A plastic which can not be
remouled again by heating is :

(1) Polyethene
(2) PVC

(3) Polystyrene
(4) Bakelite

The synthetic fiber that appears to
resemble wool is :

(1) PET
(2) Acrylon
(3) Rayon
(4) Nylon

Tissues combine to form :

(1) Nucleus

(2) Cells

(3) Organism

(4) Organs

After the sun, the next nearest
star to Earth is :

(1) Alpha Centauri

(2) Polestar

(3) Sirius

(4) Proxima Centauri
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173. A book of mass 20 g is placed on a
table. Find the thrust exerted by
the book on the table. (Take
acceleration due to gravity as
10 ms™)

(1) 0.2N 2 2N
(3) 200 N (4) 20N

174. The bumper and door handles of
motorcars are coated  with
chromium because :

(1) It does not easily get corroded
(2) It does not easily get scratched
(3) It tarnishes quickly

(4) It 1is cheap

Which one option is not a correct
cause ?

175. If the angle of incidence is 50°,
then calculate the angle between
the incident ray and the reflected
ray :

(1) 50°
(2) 130°
(3) 80°
(4) 100°

176. A bomb explodes on the moon.
How long will it take for the sound
to reach the Earth ?

(1) 10 Second

(2) 1000 Second

(3) 1day

(4) Sound will not be heard
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177.

178.

179.

180.

Friction can not be reduced by :
(1) Making the surface smooth
(2) Making the surface rough
(3) Lubricating the surface

(4) Using ball bearing

What is rust ?

(1) Copper oxide

(2) Zinc oxide

(3) Sodium oxide

(4) Iron oxide

A whistle produces sound because :
(1) It stores air

(2) Air vibrate

(3) Person produces vibration
(4) All of the above

Arrange the following planets in
increasing order of time required to
complete one revolvation around
the Sun :

(1) Earth
(i11) Mars

1) i, i, iii, iv

(11) Uranus

(iv) Jupiter

@) i, iii, iv, ii
(3) iv, iil, ii, i

(4) 11,111, 1, 1v
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gYYT B HH 7T [HAT ST Fehall :
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(1) AT ATFAZS
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(3) AifegH ffFaEs
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et eaf a1 Hedl & Hip
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(i) gt (i) I

(iii) HITT (iv) ge&aid

1) i, i, iii, iv
(@) i, iii, iv, ii
(3) iv, iii, ii, i

(4) ii, iii, i, iv
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16.
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18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wwrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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